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Topic:- Child Development & Pedagogy (CDP)

1) According to the theory of cognitive development, the concrete operational stage starts at age . TS e & Rigia & SR,
T ifparere srawT SUAIR= g gl

1.5
2.1
3.3
4.7

Correct Answer :-

.7

2) Which is vast in scope? / 9 & ¥ 19-91 $1 & # SUS 82
1. Teaching Strategy / fR1&r U

2. Teaching Tactic / fR1&or gfad

3. Teaching Technique / TR7&f01 a&-idp

4. Teaching Method / Rgror fafdy

Correct Answer :-

« Teaching Strategy / Rréfur Turifa

3) IEP is the major form of instruction. / GHﬁlﬁ \""E%RT CaR L (RS %I
1. peer-tutoring / TEHHI e

2. Individualized / JafdaHd

3. Identification / Ugdlq

4, Assessment / 3Th T

Correct Answer :-

« Individualized / dTfaIHd

4) What is the term used to denote the rules involved in putting a sentence together? / dTRI | Uh g1y a1 o gferfee fa @) g
w1 & e e ug &1 SuaiT e wiman @2

1. Telegraph /é?ﬁ'ﬂTqv'

2. Morpheme / =g

3. Syntax / dIH] - fo=m

4. Nested structure / A¢8 WD

Correct Answer :-

. Syntax / 169 - fa=amy

5) X-ray radiation is attributed as the main cause of disorder. / QT\"{-} fafeor st R & HBI HRUT FEUH ﬁ:ﬂﬁm SgrM™l
EIGIE]

1. Mongolism / ArfereH
2. Cretinism / i)



3. Hydroephalus / SRS

4. Microcephaly / aqs?rﬁf?n
Correct Answer :-

« Microcephaly / aq&’?rﬂfm

6) Motivation is a state. / JROTT Th faifa %I
1. Psychological R:EIGEIIRES
2. Physical / difde

3. Natural/ UTTdd
4. Broken / Gf3d

Correct Answer :-

« Psychological /ﬁ?ﬂ%

7) Causes for learning disability is: / SFRRTH &1 BT HRUI Il %:
1. Premature birth / 0T J Uﬁ S

2. Malaria / HARET

3. Class room environment / &[T BT IIT?[H

4. Developmental problems / & Taieh Ty

Correct Answer :-

« Developmental problems / fd@Te Tt =g

8) Which of the following is not a characteristic of authoritarian parenting? /Fafafaada PI-TT SRFATIwaTdY qTeH-uryor o1 faRiaar
T8 32

1. Highly punitive / AR SSTHD

2. Rigid / B3R

3. Demanding of obedience / 3I31Tch Xl DI AT

4. Provision of explanations for punishments / HSIT E7 ﬁm WWUT CaRCICIE]

Correct Answer :-

« Provision of explanations for punishments / STl ® ﬁ‘ﬂ‘ W@W DT YrdeYTq

9) Which of the following is not a type of long-term memory? / g o Q@ s TP YR Bt Srd-pifere Wﬁ ?a%"
1. Procedural memory / WishaTeTes @jﬁf

2. Episodic memory / PIRIHC @jﬁ

3. Semantic memory / ﬂzﬁﬁ@ﬂﬁ

4. Echoic memory / EIGESIE F:ﬂ%f

Correct Answer :-

« Echoic memory / Ufdeafd wfd

10) Which of the following is not a substage of Piaget’s sensorimotor stage? / Frafafea ¥ ¥ e-ar fa= & Eﬁqﬁlﬁl—d TS ATRIT BT
YT TS 32

1. Secondary circular reaction / TTTOT giaT SFfehar
2. Reflex activity / Fgol 7 afafy

3. Primary circular reaction / MTUfH® Q?ﬁ'q 313@711'[
4. Seriation / hHEG T

Correct Answer :-



« Seriation / hHIGT

11) Identify the qualitative change in child development from the following list. / Frafafaa '\‘ftﬂ oA 9ra e o TUMTHD uftad &} vgaE B3|
1. Weight / @91

2. Sight /=Y

3. Hair / 9T¢1

4, Teeth / Gid

Correct Answer :-

« Sight/E®

12) An aptitude test measures a child’s WA grger tl'\&&‘I'UTW TAF Eak G| %I
1. Knowledge gained over the years /UB’ ¥ § U I

2. Skills needed to solve problems / g3 Bl samﬁ%ﬁm STARgh ﬁsra

3. Skills of critical thinking / 3TSI[E-TH®D BIEKIEIN

4. Innate ability to do certain tasks /Wmﬁw BT &l

Correct Answer :-

« Innate ability to do certain tasks /Wmﬁw D1 &

13) An effective way to combat stress in learners is by: / Rrenfiat & q=ra | Fuen 1 TP guTdt adtet g
1. establishing routine / foTaat wnfag &

2. postponing all large tests for end of the year. / i a% e & 98 & Sfd & fore wiffig =T

3. making strict rules / % IEEEECEIE!

4. giving them the freedom to work whenever they want. /38 T AT HTH B Bt SIS |

Correct Answer :-

« establishing routine / foTaat wnfad &

14) Which experiment had shown that phobia could be created by classical conditioning? / 5 i @ var = @ f sarfiea S+ g wifear dar
oo gwar 32

1. Dynamical systems /7 =i ot
2. Egocentrism/ W @ﬁ@@m}
3. Little Albert/ fifea sread

4. Epistemology/Sﬂ:ﬂﬂW(Q ﬂﬂéﬂ' GIEIN
Correct Answer :-

« Little Albert/ foife aresrd

15) The child is able to lift its head first before it is able to crawl. This is because of the operation of: Ak i %ﬂ?ﬁ'\qqﬂﬁﬁ 39T RR I3 ﬁﬂ&fﬂ
gla1 81 T 9 & Tara & BRI gl

1. Differentiation principle / NeumE fRgid

2. Integration principle / TR Ryl

3. Cephalocaudal principle / YrdIFsd ﬁl@ﬁ
4. Proximodistal principle / TRimfeed Rigia

Correct Answer :-

« Cephalocaudal principle / Yraidped Rgid
16) The children will learn through as per Vygotsky’s theory. /Wﬁ?\‘ﬁﬁ F RIgia® SR T & HTHH A AR HI3A |
1. by observing/a@av_{

2. reading & writing / UghX 3R @R



3. society / JHIS

4. through books / G F e

Correct Answer :-
« society / JHIS

17) The intellectual disability resulting from Phenylketonuria can be minimized through: / ﬁﬂm { I Sifg® e a‘ﬁw frars
T 3:

1. Social interaction / JTATI® T

2. Classroom teaching / F&fT fRI&f0T

3. Environmental factors / TOTaRUITT HRE

4. Progressive education / EUIGRIGARIA

Correct Answer :-

« Environmental factors / UTaRUNT HREB

18) When tests are given at the end of the semester, it is known as: /T TN P aﬁﬁuﬁ&mﬁqaﬁi ?ﬁsﬁmm%
1. Summative Assessment / IRIfRIA 3BT

2. Diagnostic Assessment / FeT e

3. Interim Assessment / 3R 3ffdher

4. Formative Assessment / XdATH® bl

Correct Answer :-
« Summative Assessment / TRIRIT 3HTHer

19) When developmentalists study common changes that is typical to all humans, it is known as . /mmmuﬁaﬁm NWW%,
St e & fore fafke &, arsa FEUAAFATACTI

1. Normative development / e faem

2. Ideographic development / HTIYdH (3MefEamithe) fawmr
3. Informal development / ST famT

4. Formative development / Sh'q?ﬂ% faerg

Correct Answer :-

« Normative development / &mee e

20) Inclusive education aims to eliminate and ensure that all children get their right to get educated. / mﬁnﬁﬁr&m Cal 3%'531 Eal

AT AT 3R 8 AT H31 8 16 0t 9= ) 379 Rfera 81 #1 iR wra gt
1. Inequality / SRTHAT

2. Challenge / T

3. Problem / THEI

4, Differences / 3fd¥

Correct Answer :-
« Inequality / SIHHECT

21) According to Orlich et al.(1985), which strategy fosters scientific thinking and the enhancement of student problem-solving skills?

SHRfrT Te (e, (1985) ¥ AR, HH-H1 WA dqife W ok BT & THX1 F A F PG B et 82
1. Writing strategy/ TG U

2. Oral discussion strategy/ Ff&d® =i @t I

3. Task card strategy/ BT TS IV

4. Visualization strategy/ TRU BRI

Correct Answer :-

o Oral discussion strategy/ e == Pt T



22) encompasses the idea of learning as an active process where those learning are able to form new idea based on what their
current knowledge is as well as their past knowledge. / TP 9fpa ufspar & +u § AR & =R &) gaifed & @ siel 9 dem a9t
3 T FH & FIY-H1Y 30 FUSA F19 F 3MYR W ¢ IR a9 & W& g1d &1

1. John Dewey’s theory on constructivism / fafurare w S 34t &1 Rigia

2. Lev Vygotsky’s theory on constructivism / fmforare W da agiids! &1 Rigid
3. Jean Piaget’s theory on constructivism / fforarg wR S o &1 Rigia

4. Jerome Bruner’s theory on constructivism / foforare w SR\ EQREal Rygia

Correct Answer :-

« Jerome Bruner’s theory on constructivism / fmfurare w SR TIR®T i

23) Educating special children along with the typically developing children in the regular schools is

faeraia 7= & wy-ay fiRv sl s Rifdm s ____ )
1. Individualized Education / SafaaeTa fRem

2. Normal Education / JTHTI Rrem

3. Special Education / oy e

4. Inclusive Education / THI e

Correct Answer :-

« Inclusive Education / I e

24) Which of the following is unsuitable for a kinesthetic learner? / FFrafif@d & ¥ HIH-11 U Mfawadt sftrmeaf & forg STJUYFd ?
1. Providing them with opportunities to learn through activities. /B%ﬂﬁlﬁfﬂ?ﬁ%ﬂTm?r SfTH T TR UG BT

2. Participation in field trips, drama, dance etc. / éaaw:l'UT, Aqicd, :jﬂﬁﬂﬁﬁﬂ-ﬂ"'[a:ﬂl

3. Using concept mapping method for teaching. / ST aﬂ%ﬂ SR ARV UGd BT ITANT HAT|

4. Using problem solving method for teaching. / e & o geer gany fAf &1 Iugi H=A

Correct Answer :-

« Using concept mapping method for teaching. / STH aﬂ%ﬂ AR HHRE Ugfd BT IGIT BT

25) Which of the following is not affected by socioeconomic status? / FHRIGT & | i1 ArTRIS e fRfa | gyt 7t giar 82
1. Choice of neighbourhood /U@F CARSEST

2. Quality of schooling / Wﬁ fRrem ot RUCKI

3. Gender / oI

4. Nutrition / OTSOT

Correct Answer :-

« Gender / T

26) Which of the following is not a characteristic of explicit memory? (FafafEd & @ o1 Wy Wﬁf Fi faRwar 7t 82
1. Unconscious / 3/d

2. Intentional / gfaamd

3. Awareness / STRIRs &l

4. Recollection / WRUI Y

Correct Answer :-

« Unconscious / 3

27) Theory of connectionism was proposed by: / TUISHAIE P Rigid 3% GRT UFdTad fHar T/T AT

1. Skinner / e

2. Tolman / EINEE



3. Pavlov / UTdQId
4. Thorndike /ﬂ fe®

Correct Answer :-

« Thorndike /"’-] fe®

28) Children can recognize themselves as whether they are a boy or a girl, at the age of ) Eal 3 A = WU P! UgA Jhd &
b ag we@1 ¢ T ASHI

1. Five years /tn?ratf
2. Four years /%rna'ef
3. Three years /I CL
4. Six years / €8 G

Correct Answer :-

o Three years / GiEk:L

29) Who discovered classical conditioning which is a learning process governed by associations between an environmental stimulus and another

stimulus which occurs naturally? /mﬁmﬁﬁﬁwﬁﬂﬁmﬁﬁﬁwmaﬁweﬁ?wmﬁw%ﬁ%m
TR HAIfed Te SRR @5t ufshan § o waruifas &9 4 gt 82

1. Edward Thorndike / TSTS UHSE®H
2. Ivan Pavlov / 38 Urgdid

3. Wolfgang Kohler / AT BIgeR
4. Jean Piaget / S st

Correct Answer :-

« Ivan Pavlov / 39 UIgaid

30) Attention is the process of consciously focusing on a ./ YT (&) AT FUY TR o Hisd $ P ufpar 81
1. Behavior / S9dgR
2. Stimulus/Gg LR

3. Body language / HTd HfHT
4. Reaction / Ufafsrar

Correct Answer :-

o Stimulus / Bg U

Topic:- General Hindi (L1GH)

1) AT e N & o AT & e @y g §1 S ara fpelt ves wafea & ol A 8Y Wl @ o fbelt g & o off fypry 21 e et =1l | Seerur &
Rrd fopelt 3w &1 Frfor T SEhTufe & o fyeprT €Y W @, AT a6t 39 S @Ml & R et aifad gtar @ R 39 30 & $udic wiar | e i fear
ST 8 1 SIERT (el ATl & o fAshT B SraT SreRT Sieevd gielt & 1 4 oo 3 st 31 Right &1 aRfRUfY & 3rgar @t ¥1 Sarewwr & ol et @ e d e &
51 a1 3T F R Uae) TSH BT a9 b §) TahaT 21 a8) gut iR, Rl a1 grad A T arat feht sireft & o A1) Yo a1 v &1 = R gt
THaT §1 39 a8 A AP & W 987 B o usdl & R siftre 1 siftres @Rt &t wraeT uga wd |

wia afd ama: fdt 321 3 pa Sma B a8l T AR A URT A TR oY AR et @ 3@ iy wafd oma e €1 9¥ 2006 F Ay e R F sgar yra d ufa

R AT 31T 28,000 ¥ 1 el 31 & Sanfed por oma ) Ao P IuTg Fod 81 fpft A2 & Sanfed pa oma & 3 Frafa & 91 arcft sma 1 we ¥ arg

St 6T | S AP T W SIS Hed ¢ | Ufd 1000 7 W TH T Bt SU | Ugd HRA aTdl T=il 1 TSI H1 RN Jog 3R Feal & | T8 i1 Rora-1 o4 g vy &

T¥PI01 A I & 3BT AT ST B | TE Th HEeaqui AT & T 50 el 321 o Suasy Ty giynait &t quramr 3R Ul &1 var gaar ¢ | af 2011 &t

SIUMET ¥ SUR YR H RIg] 9o 2X 30.15 1 T9U 3R AR &7 srura: ufd gk qoul &1 ga- § afitarsi 31 e & {71 squ $ed 81 afe ug siwst o0

ga%%?ﬁugmﬁw%maﬁ%mﬁﬁamﬁﬁmaﬁm%laﬁzonﬁww%ammﬁﬁ-hamwﬁmgvﬁﬁmﬁmow%m&ﬁ
I

I TR B TP 2 TS T U 7 I&R Tq5E

w=: af 2006 Pt fay e o ¥ AR uRa ® ufy afe QAT g e 82

1. 28,000 3T

2. 30,000 ¥T

3. 35,000 ¥0

4. 25,000 3T

Correct Answer :-



2) 3ERT T A F R fIpra F 3renT ded gia &1 oY 91d fplt Uor aufda & o fyopra 81 waveit © 9 fobelt gak & R oft Ry 8 a8 ot =1t | Serevur &
fRrd fopalt &w &1 Fmfr v SuhTufa & ford faory §Y waran @, frT a6t 39 34 @it & R A wifad gtar @ R 30 30 & Fadie Tiar I freerfa fear
ST B 1 ST e @il & ol AT &Y SrenT 3T S g1l 81 3 oevd 9W aafaa ot et #t uRfRufy & g gt §1 Sarevur & o et gr e & wifa &
61 91 3T & R UTH) USH BT ST b1 8) Tohdl 2 1 98] gast iR, Rl a1 grag & 5 ardl fpelt sreft & R A1) Y& a1 v &1 511 Ry &t
THAI 1 39 aXE ¥ Ao & T de7 31 wewd usdl @ R sifte 9 siftre @il &1 wraer uga a% |

Wi iRt 3ma: fbel 391 &1 ot ST B T8T B STHEEHT A WA 37 T i AR Frerelt | 3@ wiay sl 3ma ed €1 ad 2006 F 3y ey Rulé & sgar wra & wfa
R AT 319 28,000 T 71 Pt 331 & STl o1 3 1 Ahdl AP I Fgd ¢ | fpit 31 & Saurfed ot omy & & Frafa @ 917 areft oma &) ve & a1g
il T § S WA T SIS BEd &1 Ul 1000 S # TP A1 B Y A Ud A a1al awl B e ol Rig] 7eg o) B &1 9% HiweT Rraw w4 8 e &
Ef¥wIor A I & 33T W1 AT ] | U8 Th Hayul TAHT 8 i S freh 3w A Suasy Ty gRywnslt ot uraw 3R Iudskdr HT Udl gadr 2 1 af 2011 @t
ST & SR YR ® fRIY] T &% 30.15 81 TV 3R TRET T 3UTa: Ui eIk Goul &1 ga-n & ufensii &1 ien & [T orgurd $ed &1 afe s sifeet o0
z\g@%aﬁu’smﬁnﬁm&ﬁ%@wmmaﬁmélaﬁzonaﬁm%mmﬁﬁha@mﬁmg@ﬁﬁmﬁgmmaﬁ

I

ST TR B g A S T 9% BT SR qq19Y
U=H: el ¥ 3R Tl T ATy, T U A fg fiyear 82
1. IO ST arel Bl

2. UGTS! AT aTal Bl

3. STl H Tg d1ell b

4. 98 TR & Faipt &

Correct Answer :-

- 9 YR & TRl @

3) 3MET A ARl & ford faopTr & SrenT wgy gid & | i) ard fobelt uep wafe & fordl fara &) ot @ a8 foft v & o off faoray Y 9 ot 1Y | Sarevur &
RRrd foplt 3w &1 Fmfor v SEhTufe & o faery §Y W @, AfT 96t 39 84 @M & R fAme wifad gtar @ R 30 30 & Fudie Tiar I freerfa fear
ST B 1 ST e &l & R faepTr Y SrerT et o g1t §1 3 evd 9 aufad oot gt 9t aRFRURY & orgaR 8t 31 Sereror & R faefht R et & wifa &
61 913 3T & R UaH USH 1 a1 AP 81 ThdT 2 1 98] gast 3R, Rl a1 grag o 5 aral fpelt smenft & R 99) Y& a1 v &1 5911 Ry gt
THdI 1 39 aE W Ao & T de7 $1 wewd usdl @ R sifte F ¢iftre @il &1 wraer uga 9% |

wier saf oima: fnxht 31 ot ot omT Y Tl B FFEET A YR A 7R S R et @ 5@ wfa sl oma wed €1 af 2006 F Ay e Rulé ¥ sgaR wRa d ufy
R | 3T 28,000 ¥ 1 felt A & Sanfed por oma &) Ao A IuTg ped §1 el Aw F Ianfed wa oy F § Frafa @ 99 arcft sma ) vem F amg
S T94T § I THT U SIS FEd &1 Ui 1000 T W U AT B IY | Ugdl TR a1dt g1 B IS B I I R gl &1 I SHipeT Rra=n o4 g1 A &
Ef¥wIor A Ia-T & 33T W1 ST B | U5 Th Hgayul T 8 Fifeh S fpelt 31 o Suesy Ty gRyumsit ot uraw 3R Iudskdr &1 udl gadr 2 | af 2011 &t
STV & SR YR ® fRIY] T a¥ 30.15 81 T9W 3R TRET BT 3UTa: Ui gk Goul &1 ga-T | ufensii &t ien & R srurd wed &1 afe g sifeet o0
%a%%ﬁugmﬁqﬁmaﬁ%%wwﬁanﬂﬁwaﬁmélaﬁzonaﬁm%mmﬁﬁhmuﬁmwﬁﬁmﬁgmqﬁmﬁ

I

ST T B TGP T TS T YA BT IR TS

TR: A P TR JRAYTei Bt urawr R AT HT UdT fHaR Terdr 82
LRy RY

2. TH I P T

3. 3 STl BT TS H

4. ST

Correct Answer :-

- Rggg Ry

4) 3T ST ARN & R T & 3T @ed 1A €1 <) 91a fvfl o aafay & R ey @ I @ a9 fanft gk & o oft i 8 9 o8t 1| SerRur &
Rrd foplt 3w &1 Frwfor v SEhTufe & o faerT §Y W §, AfT a8t 39 S @ & R fAmer aifad gtar @ R 39 30 & Fudie Tiar I freerfa fear
ST B 1 ST e @il & o faepTr Y SrerT et S g1t &1 3 wevd 99 aufad oot it o9t oIy & SrgaR 8t 31 Sereror & R faeft @R avret & i &
61 913 3T & R Ua WS BT a1 AP 81 ThdT 21 98] gt 3R, el a1 grag o e aral fpeit senft & R 91) Y& a1 wewid &1 = Ry gt
a1 ¢ 1 39 IXE A et & U 7ea 9 oo usdl € o aiftre & aiftre @il &t wraer uga 9|

Wi feRT omg: frelt %1 91 ol S Y 98T B TEE | YT 7 TR &Y A hreredt @ 3@ iy aafd oma v €1 ad 2006 # fay ey Rulé & ogaR yra & wfa
SfRT ATAHT 3T 28,000 FUA 1 el 321 & Ienfed oot oma Y wova APka SaTg wed &1 el 3 H Ienfed oo oy # @ Frafa @ g9 areht oma &) wem Fag
Sl TUdT @ I P WY SIS Hed & | Ui 1000 S T TP 0Id B 3T W UgA WA AT =l B G B1 R 7Y 3% FEd €1 98 st R w9 8 e &
TRBIT A IAT € 3BT WHT STl 81 U8 TP Heedqul THTHT & Fifp 3o el 3= & Suaioy W Qianaif @ orawn iR Sudisdr &1 udT 9a«r 8| 996 2011 &
SFRTOMT & SR YR # FRIg] 97 &% 30.15 1 T30 3R Afan &1 srgura: wfd goiR goul 31 gan & afkarsit 1 T@en « 77 srgur wgq 71 afe ag sitest o0
ga%%auswﬁﬂﬁmeﬁ$@wwﬁauﬂﬁwaﬁm%|aﬁzouaﬁww%ammﬁﬁhamuﬁrmwﬁﬁmﬁmouﬁm&ﬁ

I

IR TR BT UGHR A ID T YT $T IR a1zl
T: TP WP T iy g Tt A d R &2
1. Q& & Ui & fow

2. TETR TRt & ferg

3. §T9R dTal & forg



RCASCINIEARIY

Correct Answer :-

. Q- F A & g

5) 3ERT T A & o fIpT F 3renT ded gia & | oY 91d fpelt U@ aufda & ord fyopr 81 wavelt © a8 fobeft ok & R oft ey & ag ot =1t | Serevur &
Rrd foplt &0 &1 Fmfor v SuhTufa & ford faory §Y waran @, fT a6t 39 84 @M & R fAme i wifad gtar @ R 39 30 & Fudie iar | e e fear
ST B 1 ST e @il & R AT Y SrerT et ol g1t §1 3 vl 9 aufad oot it ot aRFRURY & orgaR 81t 31 Sereror & R faeft R et & wifa &
61 914 3T & R UaH) USH BT ST b1 8) TohdT 2 1 98] gast iR, Rl a1 grag o 5 ardl fpelt srefht & R 99) Y& a1 v &1 o=+11 fysry &t
THAI 1 39 a¥E ¥ Ao & T de7 31 9ewd Usdl @ R sifte 9 siftre @il &1 wraer uga a1

wia saf oima: fxht 31 ot ot oima Y 7T B FEEET A YR A TR S R et @ S wfa sl oma wed €1 af 2006 F Ay R Rl ¥ srgaR wRa d ufy
R | 31T 28,000 ¥ 1 felt A & Sanfed por oma &) Ao TN IuTg ped §1 el Aw & Sanfa wa oma ¥ § Frafa @ 9 arcft sma ) we ¥ arg
il Ul & S WA Tie SIS BEd &1 Ui 1000 S # TP AId B 7 A U A a1al a=l B e o1 RIg) 7og o) B &1 9% HiweT Rra- w4 8 e &
Ef¥wIor A I & 33T W1 ST ] | U5 Th Hgayul T 8 i S fpelt 31 o Suasy Ty gRywnsit ot uraw 3R Iudskdr HT udl gadr 2 | af 2011 &t
STV & SR YR ® fRIY] T ¥ 30.15 B1 T9W 3R WREN BT 3UTa: Ui eIk Goul &1 ga-n 8 ufyensii &t ien & R srguid wed €1 afe s sifest o0
g\g@%aﬁu’smﬁnﬁm&ﬁ#ﬁmmﬁamaﬁmélaﬁzonaﬁm%mmﬁﬁna@mwﬁrmwﬁaﬁmﬁmomaﬁ

I

ST TN BT UGHR 1 UD T U $T I&R a1y

T: U4 1000 91 F TF AT B 3T UgA A AT T B WS P HT FEA 72
1L Rggg R

2. AR

3. AMFA G R

4. IO GG &

Correct Answer :-

- Rgggw

6) 3MET AT AR & ford FapTy & SrenT wgy gid & | i) a1d fobeft uop wafea & fordl faprar &) et @ 9 foft @R & o oft faoraa Y 9 ot 1Y | Sarevur &
fRrd foplt 3w &1 Fmfor v SEhTufa & o faorT &Y waran @, AfT a6t 39 S @M & R fAme wifad gtar @ R 39 30 & Fudie iar | freeria fear
ST B 1 ST e @il & R AT Y SrerT et o g1t §1 3 evd 99 aufad oot it o9t oMY & orgaR 81t 31 Sereror & R faeft R e & wifa &
61 914 3T & R UaH) WSH BT ST b1 81 Thdl 2 1 98] gast 3R, el a1 grag o e ard fpelt senft & o 919) Y& a1 v &1 5=+11 fysry &t
THAI 1 39 @XE ¥ Ao & T de7 $1 wewd Usdl @ R sifte F siftre @il &1 wraeT uga 9% |

o saf oima: fnxht 31 ot ot oM Y 9T Bt FEEET A YR A 7R S i et @ S wfa sl oma wed €1 af 2006 F Ay R Rl ¥ srgar wRa d ufy
R | 31T 28,000 ¥ 1 felt A & Sanfed por oma ) Ao WA IuTg ped §1 el A & Ianfed wa oma ¥ § Frafa & 97 arcft sma ) we F amg
Sl T9AT § I ThE U SIS FEd &1 Ui 1000 T T U AT B IY | Ugdl TR 916t 9=l B IS Y I I &R gl &1 I SHipeT a1 o4 g1 A &
Ef¥wIor @ I & 33T W1 1T B | U5 Th Hgayul T 8 Fifh S fpelt 31 A Suersy Tarey giyumsit ot uraw 3R Iudskar HT Udl gadr 2 1 af 2011 &t
ST & SR YR ® fRIY] T ¥ 30.15 81 TV 3R WRET BT 3UTa: Ui gk Goul &1 ga-n 8 ufensii &t ien & R orgurd wed €1 af ug sifeet o1
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o TP AN B IOAT
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ST B 1 ST e il & R faepTr Y SrerT et o g1t §1 3 wevd 9 aufad oot gt o9t aRfRURY & orgaR 8t 31 Sereror & R faft R qvret & wifa &
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AEpAIATCHIATHTBAY: HIRUTSTAAT FT: TEPd FIAIEAT Tagarar
| TIRAReIfETEeT MicaRAdearn: FEhdaad: SEhda@hed |

yriAfReTusiad fAeTed e NvER: 3o

AT

1. ~

, o e
, T

, T o i

Correct Answer :-

. oS Heplel



ool afScar renfAfisery weaey gl YA -

S HIHAIOT fdeadlies Fardet |

WWWW% I

3SeIGer gm‘rg ATEFT IIAGITH |
TRIUhR: JUITT 9Ta RIS ||

3 S GfadT Fid: -



IRTOC ITScaT TRATT AGHR AT -

fafeeremaaicaes. oRd d@&PdE¥  YER:  FEEe: T |
TafRIGeATSCIGRIRIATA foheeled shael d9sdd F&IfAdT: Uroemel: 37 |
W TATAEIGIETER  GaTGRICICRTSCIGRRIATH  fohsered  HAGTvesT
mﬁa—maamﬁm UreAeT: A | W ARIGTEwYe-
dlcauserifaagarfchaholel-TCATHRIRGIAT:  fRA&T  ofdled TH | W
fofceemas:  @r  udefReogfafda®ar | o3 #Aeer  #Agleds

TICENIT: TAR: Hd: | TAdRT TEHATT gragoraATaedd |
Aepaey W & 3R Hidedr 3fd ueaAlsTArh AT FHCUCId |

AEpaed Wi fArfaidser: @el 3URT: Hethod- TATAH et
ufd Y FeRET: STIRUIGH, AEPATIET=d Yoiedlsdall hd FEATE:
TIfddea# | FEpATEATTeTell daTgiediy Shaicdl | TASCHITET HERIATT
AEPITARGAVI AT Tl | HEPHIITSRATAAT FATIAT hctedT| fearerdy
mﬁmﬂﬁqawﬁammﬁaﬁaﬂ—mmﬁ@ﬁamﬂmaﬁ
um@lﬁ?rmﬁwaﬁaﬁm | TEHAURYG: TATI AT |
E."ﬁﬁEIﬁEmi ACATERAAR T AT TIFs:  Tah:  vaded: |
AEpAIATCHIATHTBAY: HIRUTSTAAT FT: TEPd FIAIEAT Tagarar
| TIRAReIfETEeT MicaRAdearn: FEhdaad: SEhda@hed |

Terifdd sca7 30 |@ATE: fagd-

, 3cTAreTa:
Correct Answer :-

_ 37cgATea:



Correct Answer :-

Topic:- Social Science (SSC)

1) Who said that, ‘But in the long run, it would be in the interest of all to forget that there is anything like majority or minority in this country and that
in India there is only one community’. /

foram we1 5, afhT a Twg ¥, g8 Yo 9t & e o ghm fp 3w 3u & agHa a1 reuiere Ol g i @ 8 WRd § $ad Th que
1. Abdul Kalam Azad / 31egd HaTH $HTeG

2. K. M. Munshi / %, T8, 5=ft

3. Ayyangar / 3R

4. Sardar Vallabhai Patel / TRGR TEIHTS U

Correct Answer :-

« Sardar Vallabhai Patel / SReR geaHTs Ued



2) The cycle of micro teaching is: /wrsaﬁ AR (Gl ﬁT&I’UT) Caera %z -

1. Plan — Feedback — Teach — Re-feedback — Reteach / ISt - Ufargf® — fRigror - g.wfagfy - gArkfero
2. Teach — Feedback — Reteach — Plan — Re-feedback / TRI&01 — Tfagf® - Eﬁﬁf&m - TIoHT - H-ufag®
3. Plan — Teach - Feedback — Re-plan — Reteach / AV - fRrefor - wfagf® — graifer — gAfRfemor

4, Teach — Reteach — Feedback — Re-feedback / TRI&0T - W&TUT - yfagf® -
LERtIGE

Correct Answer :-

« Plan — Teach - Feedback — Re-plan — Reteach / TSI - fRI&0T - TRy — GrafomT — gARiem
3) Who is the exponent of Project method? / ufegiern faft &1 ufauree @19 82
1. F. Froebel / Uh. e

2.D.W. Allen / 8. 3, TaA

3. John Dewey / S St

4. W.H. Kilpatrick / $&9,0d. fhaifes

Correct Answer :-

« W.H. Kilpatrick / S&9.0d. ferafes

4) Which of the following discriminatory taxes did Emperor Akbar abolish in 1564 2 / 1564 T HTe 3PpaR A fraferf@a o @ fay dguraygef
P B AT B a1 412

1. Kharaj / @RS

2. Zakat / SITd

3. None of the above/ wjaa oy Tﬁé :@
4. Jizya / ST

Correct Answer :-

o Jizya [ SIfomn

5) Consider the following matches:
1. Ashtapradan Maratha Empire
2. AshtaDiggaja Vijaynagar Empire
3. Navaratna Harsha
4. Local Self Govemnment | Chola

| WAt A4 W @R F1

1. F=Cque HIGT HATTT

2 HECIG I9Ta AAdAT HIHTTO
3. WA g

4 T T §IEN | 99

1. Only 1,2 and 4 are correct / Fad 1,2 3R 4 TE &
2. Only 1 and 3 are correct / a1 3R 3 T &
3.Only 1,2 and 3/ %ad 1,2 3R 3

4. All are correct / T8 Ta §

Correct Answer :-

e Only 1,2 and 4 are correct / Had 1,2 R4 TR T



Match the Following rulers with their capitals:

1. Maurva | A. Mathura
2. Pallava B. Pataliputra
3. Chalukya | C. Kanchi

4. Kusana D. Badami

[ TAFATATEST eMHehi T 3efeh! TSALAGT & 1Y fFerT &l
1. #E | A FE

2. 9eeid | B. 9ieeigA
3. =reed | C. it

4. T D. FierAT

1. 1-A,2-B,3-C4-D
2. 1-A,2-C,3-B,4-D
3.1-B,2-C,3-D,4-A
4.1-C,2-B,3-D, 4-A
Correct Answer :-

« 1-B,2-C,3-D,4-A

7) is a scoring tool created for assessment of student’s performance in any area, including curricular subjects, curricular activities, and social
and personal qualities. /

malﬁwﬁ%ﬁ&aﬁw%w&h%&mﬂ%ﬁmmﬂmﬁﬁﬁﬂgﬁ%ﬁmﬁmﬁmﬂmﬂfﬁmnﬁﬁfﬁﬁaﬁ?m@ iR O
1. Rating Scale / &7 Wha

2. Rubric / ¥fgie

3. Credit Consideration / ST Se=d

4. Excel / Tod

Correct Answer :-

« Rubric / &fod

./ 3idht S Sfar S @t oy T T B fear A

8) The English East India Company was abolished in the year

1. 1859
2. 1860
3. 1858

4. 1867

Correct Answer :-

« 1858

9) The lowest level of learning in cognitive domain is: / SIFTE® S A TR ST Fgad w1 8: -
1. Knowledge / T

2. Understanding / JHSI

3. Creation / oI
4. Application / GWT

Correct Answer :-

o Knowledge /T

10) People’s Plan was advocated by whom? / N @ &) aaTed [T gRI Sl TI'{' ff?
1. Mahatma Gandhi / HETHT ief

2. Narayan Agarwal / TRTIUT AYATd

3. Jayaprakash Narayan / STIYDTRT TR0



4.M.N. Roy / TH. T4.319

Correct Answer :-
« M.N.Roy/TH.TH.31g
11) Select the correct statement.
1.Champaran Satyagraha was the first Civil disobedience Movement under leadership of Mahatma Gandhi.
2. This Satyagraha was against the exploitation of tenant farmers in North Bihar.
I YT BT 99 Y.
1. AURTT AT HETAHT Miht & Aged & Ugar AfI=a Saq sfigra- ATl
2. 9% HATIE IR fIeR # ferieR feamt & 2iwor & e am

1. 1 and 2 both are correct / 1 3R 2 Eﬁ:ﬁﬂﬁ%
2. 1 and 2 both are wrong / 1 3R 2 aﬁﬂm%
3. Only 2 is correct / Had 2 Hﬁf%
4. Only 1 is correct / I 1 Hﬁ%

Correct Answer :-

« 1and 2 both are correct / 1 3R 2 Eﬁ:ﬁw%

12) When was UN Commission on Human Rights established? / H’gﬂﬁﬂgﬂmﬁw STANT B WITT Fd §52
1. 1946

2. 1950

3. 1949

4. 1948

Correct Answer :-

« 1946

13) In which year was the Reserve Bank of India established? / YR Rord S &t w1 i af & Tl'g A
1. 1946
2. 1935
3. 1950
4. 1949

Correct Answer :-

« 1935

14) In 1837 who deciphered the brahmi script referring to ‘Devanam Piyadasi’ the epithet used for celebrated monarch Ashoka? / 1837 ﬁ,

=517 reht frfty A frfra wwe sites & forg w9t 1€ Swfy aamfa fraewdt 1 ordf freram?
1. None of the above / SUJad H F B3 g1

2. Alexander Cunninghum / 3G BITTH

3. James Prinsep / 9% YU

4. V.A. Smith / 91T, {1y

Correct Answer :-

« James Prinsep /S iR

15) Who established Mukti Mission for young women in Pune? / g'lﬁ | gaﬁ'q}f ¥ fog 'ﬂ'% e 1 wuToe fo a2
1. Jyotibha Phule / ST Q’ﬁ



2. Pandita Ramabai / GTSll THTETS
3. Ishwar Chandra Vidyasagar / $oR dg AR
4. Savitri Phule / mﬁsﬁgﬁ

Correct Answer :-

« Pandita Ramabai / GfSd TJZITEITEF

16) Who has the power to dissolve the Lok Sabha even before the expiry of its term on the recommendation of the Prime Minister? /

TUTER @1 RIBTRRT TR SrieTa THTE §1 A U6 6 AIbaHT BT Wi - ot Tfad fhae T gidt 82
1. President / Tgufd

2. Speaker / 31281

3. Cabinet / Hived

4. Supreme Court / Faf=l <grTed

Correct Answer :-

« President / Igufd

17) Earlier Pallavas were feudatories of which dynasty? / Ugd Uewd [y 91 & IqrHa A?
1. Satavahanas / gIddlg-

2. Cholas / A

3. None / ﬁ% 7‘|_Eﬁ

4. Kusanas / Y0

Correct Answer :-

« Satavahanas / gIddlg-

18) Saptanga Theory of State was propounded by which of the following texts? / ITod BT v frgia Frafafea 7 A fea Uy GRT =TfUd
e mar ur?

1. Rajtarangini / REGREW
2. Arthasastra / 32T
3. Manyusmriti / qﬂ%
4. Raghuvamsam / W

Correct Answer :-

« Arthasastra / 32T

19) Under which Act of the Government of India the unfair trade practices are included? / HRd IRPRR & g afufam & dgd 3ﬁﬁﬁ[
YR gyT3it Y =i far mar 32

1. Money Laundering Act / = F’ﬁ%—q Sy
2. MRTP / THREIUT

3. FEMA / BHT

4. FERA / BT

Correct Answer :-

« MRTP / THIREL

20) Under which dynasty did the Mathura School of Art prosper? / fradrd agd HYRT pell = Y% §3l1?
1. Kusana / Y0

2. Gupta / JtWd

3. Sunga / ‘{ET



4. Maurya / 5]

Correct Answer :-

« Kusana / Y0

21) The individual has the right to approach the Supreme Court or High Courts for the protection of his/her Fundamental Rights as they
are

o o STl o8t e ¥ fRrg e = T g T A v B R R F AR R 3
1. Accessible / 3T

2. Justiciable / e

3. Justifiable / THETA

4. Affordable / ag-1g

Correct Answer :-

« Justiciable / mafa

22) The formed as the basis of the Second Five Year Plan aimed at promoting regional equality. / &t guTar Bt derdr CEE] 3%?‘1

Ifgfuvaffade i eneRwR__ @176 fearman
1. Industrial Policy Resolution 1948 / 3N =ifa Yahed 1948
2. Industrial Policy Resolution 1951 / m i THed 1951
3. Industrial Policy Resolution 1956 / m:ﬁﬁm 1956
4. Industrial Policy Resolution 1977 / m i e 1977

Correct Answer :-

« Industrial Policy Resolution 1956 / NI Hfa Jhed 1956

23) Which was the first state to adopt Panchayat Raj System in India? /
YR & YT X151 YOI Y U1 ITel Ugal 57 B 6 UT?

1. Maharashtra / AgRTY

2. Madhya Pradesh / 74 e

3. Rajasthan / JTSTRITH

4. Andhra Pradesh / 3ffgf Ue=r

Correct Answer :-

« Rajasthan / TSTRY

24) Which is not a step in Discussion method? / m -k 'Clﬁ_lﬁlf fafa o1 TP ORI qﬁ%"

1. Allocating responsibilities for the conduct of a discussion / T ERCEIE R EINEE ﬁm ﬁlﬁm &1 3fTde

2. Working together to find ways of solving the problem / THIT P EA HRA &b AR WioH & forg fHas B HAT

3. Locating and defining problem of common interest and significance / ITHIRI fY 3R AR BT THT BT U1 T 3R GRS BT
4. Finding final solution for the problem / JHJI DI ST g I HRAT

Correct Answer :-

« Finding final solution for the problem / JHXT [ Sifam & I B

25) Which Veda contains Gayatri Mantra? / fea a?{ A T g '\‘THT%T‘T %?
1. Sam Veda / 91 d¢

2. Rig Veda / W_a?{

3. Yajurveda / qT{ﬁ?{

4, Atharva Veda / GRK%E



Correct Answer :-

« Rig Veda / Bdg

26) Which is the most important primary source for the study of Indo Greeks? /

3! gl & Sreaae & e e Hgeayuf yrufie wa s | de
1. Monuments / ¥HRd

2. Inscriptions / Rracra

3. Coins / Rid®

4. Literary Texts / W%m gy

Correct Answer :-

« Coins / Tya®

27) Which of the following combination plays significant role in the increase of population /Fafafaada P AT GO STHST BT q@ |

Tg@yut YfireT umar g

1. Low Death Rate and High Birth rate / % qg ® IR I TH W
2. Low Death rate and Low Birth rate / % HI R IR TR

3. High Death rate and High Birth Rate / 3= Hg q¥ IRIFITHR
4. High Death rate and Low Birth rate / 3= Hg aX IR TR

Correct Answer :-

« Low Death Rate and High Birth rate /g Jg R 3R 3= o R

28) Which of the following is a brainstorming question? / fafafaada G%—\_tﬁﬁg@ Y B} U B

1. What suggestions would you offer to protect forests in the country? / S H I BT &M & forg smu BSEUE] M
2. Explain the concept of “Forests”? / gl B SAYRUT B RS B2

3. Give five uses of forests? / I & ofg IuaT EGIY

4. Describe the forests of Madhya Pradesh? / H¥] USRT & SITQ! T Ui B

Correct Answer :-

« What suggestions would you offer to protect forests in the country? / SR H A PIIETFH ﬁ'ﬂ! SICEUIRSEIC] 2y

29) Which of the following is not an objective of group discussion? / ﬁmﬁ-@a o T 7 ufvet g PTTD G%W qﬁ%"
1. Promoting self-study / -3 ETT B FeTal ol

2. Encouraging creative thinking / XdITH® ek mﬁ DAl

3. Stimulating reflective thinking / fia=ite fefa @t Safsra e

4. Testing previous knowledge/ TUBT T T TRI&UT BT

Correct Answer :-

« Promoting self-study / T30 B! Fgral o

30) Which of the following texts discuss paintings / murals? / e o @ - vy 7/ il o &Y =i srar gz
1. Vishnu dharmottara Purana only / el ﬁml YRR TRI0T

2. All of these / STYad Tt

3. Shilpa Sastra only / Had RIedT ARG

4. Kashyapa Shilpa Sastra only / ae ®I9 eqT XM

Correct Answer :-

« All of these / Judad Tt



31) Which of the following does not apply to a Social Science text book? / FHfIEd # A FT WIS fag B U UTey s WR AN Tl
GG

1. It is a document to be memorized. / g dlq @ ara Th W’Iﬁﬁ %
2. It is an instructive document creating scope for further reading. / g U Rremie gxdras % ST 3 qﬁ P IER: a1 Rl %
3. It is perceived as a dynamic document. / 38 U TIfaeid gxdrdsl & &9 § AT ST ?

4. It is applied for the welfare of mankind or for the destruction of humanity. / 9g HIFd SfA & Sedrur & g a1 Aiadr & fa=rer & forg ?‘I'I"lﬁ)_ﬂﬂ SIGI
gl

Correct Answer :-

« Itis a document to be memorized. / Ig dlq RRGERCI] Th LG %

32) Which of the following is the technique of collecting all sorts of necessary information about a child with a view to studying and solving his

deep-rooted problem?/wﬁﬁmmmmﬁaﬁ@ﬁ%ﬁaﬁﬁmﬁwﬁmﬂaﬁaﬁmﬁmmﬁaﬁaﬁw
e ddwn e

1. Case study / fad e

2. Experimental study / TOWTTcHS® ST

3. Qualitative study / [OMTHD AT

4. Quasi experimental study / 3f o T SregT

Correct Answer :-

« Case study / fad e

33) White revolution is associated with ./ Jawifd_ qTafREgl
1. Salt / THD

2. Sugar / At

3. Milk / g4

4. Rice / dldd

Correct Answer :-

« Milk /gy

34) Under which movement the rich landlords/farmers were asked to donate a piece of land to the landless people? /
e srigie & ded 3l siaRY / Pl @1 yfHdt Al @1 S 31 TP gpsT o 3 o g He1 T ur?
1. Bhoodan movement / a1 S

2. Cooperative movement / GgebTRal e

3. Consolidation of land / ¥ &1 TR0l

4, Chipko movement / fRIae! sfigier

Correct Answer :-

« Bhoodan movement / JGIF Sfigier

35) Choose the conventional sources of energy. / ol & IRURS il B ﬂﬁ"{l

1. Natural gas / TG e

2. Solar energy / IR S

3. Bio-energy /S Gl

4. Wind energy / Ud- $q

Correct Answer :-

¢ Natural gas / Wﬁ?

36) Whose assent is necessary in the enactment of a bill into law? /

e & F1A A ffafe e W et weafa snawas g 82



1. President / TIE'CI'%

2. Supreme Court / SHdH =ATATAA
3. Prime Minister / JeTTH

4, Parliament / §9¢

Correct Answer :-

e President / Tl'gfﬂ%f

37) Which Commission emphasized that for solving the diverse socio-cultural problems of the modern world, social sciences have become a significant part of
formal and non-formal education of the modern world? /

frw ST A 39 919 W 9IR e % snyfares gfvar ot fafay s -aiRepfas Tawnsit &) ga w4 & g, amtre fagm snyfHe gihar 31 sivaie ok
ST fRre #1 ve agayf fRwar a7 mrg?

1. University Grants Commission / fafaemers srgar smiim
2. Delores Commission / SARY SR
3. National Knowledge Commission / T@H I MR

4. Commission on Higher Education / 3 fR1&f ST

Correct Answer :-
« Delores Commission / STRY STANT
38) society is characterized as a male-dominated one. / T BY GeU-uYTT ¥ wu & fafa frar s 81

1. Patriarchal / TOqeraTd®

2. Matriarchal / HTJHTIIHSD
3. Familial / UTRATR®

4. Gregarious /TR

Correct Answer :-

« Patriarchal / FOqeTa®

39) The Fundamental Rights in the Constitution were described as a pledge to our people and a pact with the civilized worldby ./
TRYH A e ARERI S gRT 9 g1 & T1 qughar R guR @ & e wfagn & wu & affa fear war am
1. Dr. Rajendra Prasad / ST. IO T9IG

2. Dr. S. Radhakrishnan / ST. TH. JTYTHWT

3. T. T. Krishnamachari / 1. €. $OMHER

4. Sardar Vallabhai Patel / TRGR Jeai IS UCq

Correct Answer :-

o Dr. S. Radhakrishnan / 8. TH. JYTH

40) An example of a meteorological instrument is: / H'I'Q'H'US?&!I JUDPRUT BT TP Igleul %I

1. Foot rule / € g

2. Prismatic compass / fosg s

3. Tripod poles /E'l'ﬁr'qbll_s' uid

4. Centigrade thermometer / Js YR

Correct Answer :-

« Centigrade thermometer / Ys yrffiex

41) Who among the following built the Qutub Minar at Delhi? / feweh ¥ Fga WAR &1 fHufo fr=fifEa 3 @ feam s uar?
1. Qutb-ud-din Aibak / $IS-3G-2IH UadH

2. Akbar / 3fBER

3. Shah Jahan / RITgegl



4. Khizr Khan / &1 @t

Correct Answer :-

« Qutb-ud-din Aibak / FII-3-SH VaH

42) To teach a lesson on the boundaries of the country, states and districts, the teacher uses which of following maps? / ém, Ireal 3R foret
F1 dreit W) T Ut yer ¥ g, e Fa & A 7 amfet &1 3w wwar g2

1. Physical maps / ifde amRe

2. Relief maps / I qHRA

3. Specialized maps / fafRry At
4. Political maps / TS AR

Correct Answer :-

« Political maps /X SIS A

43) Which of the following statements cannot be considered a characteristic of learning? /

Frafafea & 9 f5a sy ot siftrm &5t faiwan 78t AT o wwar 82

1. Learning is limited to educational institutions. / m‘a&m TR a% ?ﬁﬁlﬂ%l

2. Learning is a lifelong process. / ST UH STofa Ui g1

3. Learning influences all aspects of behaviour. / ST AR & Jquft q%ﬁ&ﬁ B gUTIId e %I

4. Learning depends on physical growth and mental maturity. / SR AR fam iR AFfye uRuear R AR wrar gl

Correct Answer :-

« Learning is limited to educational institutions. / 3ffeTy ‘3&@@ T d Hiferd %I

44) The loan facility provided to the farmers for the development of agriculture is known as .

PP R r R FraHisi R AR TR sgRu® SeudaEreams]
1. Rural loanable funds / ATH01 501 T H19

2. Rural credit / ITHIOT 5501

3. Rural development / ITHOT faeT

4. Rural advance / THOT S

Correct Answer :-

« Rural credit / 70T 507

45) Which among the following soil type has a property of holding moisture for the release of plants during the dry period? / fafafead d
fru it & yoR & Yo 3afy F SR dielf & i & forg smsfar 4Ror w37 &1 qurent grar 22

1. Lateritic / a%?ﬁ?
2. Red / dTd

3. Black / Tcil

4. Alluvial / TG

Correct Answer :-

« Black / BT

46) The students ability to organize, integrate, synthesize and evaluate knowledge is known through which of the following types of test? /

Bl F I $T FHalRd, THlgpd, G 0 qeuifrd w3 31 g Frafifae 3 e gor F wdenr & arem @ 9 ot ol 32
1. Objective Type / 3539 TBR

2. Short Answer Type / @Y IR UDHR

3. Multiple Choice Type / Sgiddedl YR

4. Essay Type / Fey geR

Correct Answer :-



o Essay Type ARCRRCAN

47) The step that is not a part of project method is: / @8 %01 St Uf@eHT fAfy &1 fewa ) &:
1. Selection of capital / AT o7 T

2. Executing the project / iAo B feTfed SR

3. Providing situation / fRufd v

4. Evaluation of the project / RIS BT G|

Correct Answer :-
« Selection of capital / T BT T

48) A famous palaeontological hoax related to the finding of the remains of a previously unknown early human known as Piltdown Man was
found in which of the following countries? / ITESIST 89 & ¥4 ¥ 91 WH 914 Ugd IR YRS HIFG F @2l $ T | Teita 0 Ui
Sarfuey gl (Aa=<iarcied gie) frafafead 3 § fea 3= d urr mr ur?

1. France / %

2. Australia / G'IWT
3. England / 3_’%3

4. Germany / ST

Correct Answer :-

« England / 3’%—5’

49) The learning strategy that helps the leaner to gain from each other’s effort is: / 3T Torifar =it Rrenf «1 ve g & v @ a1y v
F | Teg Bl B

1. Brain storming / W cal HETU&‘E’T)
2. Case study / B 3eaTT

3. Experiential learning / AT S{fORTH

4. Cooperative learning / geanft siferm

Correct Answer :-

« Cooperative learning / Teanft sifermy
50) What is the upper limit of the Richter scale? / frae? Tum Y Sudt i T g2
1.9

2.10
3. No Upper limit / DI W AT 8

4.8

Correct Answer :-

« No Upper limit / ﬁ% SO qﬁ%

51) CANCELLED

The World Trade Organisation aimsat ./ fay FUR weT @1 Eﬁ'i'q . H
1. Encourage embargo / SATIR-URIY &1 TTeIgd &3

2. Promotion of imports / ST BT FGIAT &1

3. Free trade / . UR

4. Restrictive trade / STId TR

Correct Answer :-

« Free trade / F:Y[eh SATUR



The process of collecting data on student performance that is used to evaluate the attainment of certain expectation,
objectives or outcomes is known as: /

w%ugvhwéammﬁﬁagmmmweﬁ&mG%ﬁmuﬂvnﬁaﬁuﬁ%g@m%m%mm%,ag

1. Evaluating / Hcdieh]

2. Assessment / 3fidbel
3. Scoring / Y AGT
4. Rating / argar Ry

Correct Answer :-

« Assessment / 3chel

53) The Woods dispatch of 1854 is related to which of the following? / 1854 T g8 &1 TYUITU (F5 fevdw) fFuferf@a & 3 v Wafta @2
1. Introduction of Railways / YA BT IR

2. Introduction of English Education in India / URA H 3ol R1eM &1 gRey

3. Introduction of the Postal Services / ST& HaT3{T HT TR

4. Setting up of Universities in India / YRd ¥ fayfareat ot =g

Correct Answer :-

« Setting up of Universities in India / HRd T fayfemeaal & wig=

54) IPCC is a body to examine climate change. What is the full-form of IPCC? / GI'IgTﬂ?ﬂ?ﬁ olerdrg TRadq FI S HA S fore we e %I
St &1 quf U = @2

1. Intergovernmental panel on climate change / $27 dHed O 3 FAGHE Tl
2. International Panel on Climate change / SIRERIEY BEK 3 FaRHT o

3. International platform for climate change study / S'CHQI"M WchiH BR ENIELE ENESE

4. Inter-panel on climate change /s"avfﬂa 39 FaTSHe O

Correct Answer :-

« Intergovernmental panel on climate change / gedied T7d 3 FAZHET ol

55) Who named the Gulf Stream? /WWWHWWW?
1. Benjamin Franklin /éﬁﬁ?m?

2. Juan Ponce de Leon / S[3{T9 Uiy St ferd=

3. Columbus / HIAaH

4. Thomas cook / ?'mw

Correct Answer :-

« Benjamin Franklin / ESIEE mt{

56) Which of the following causes Normal Faults? / e & 9 feae sRU IW= Biee (=M ﬁﬁ %?
1. Compressional force / BRG]

2. Vertical Movement / 3¢afeR Ty

3. Horizontal Displacement / afaret faim=

4, Tensional force / dTd-dc]

Correct Answer :-

« Tensional force / -

57) Which of the following is an example of renewable energy? | FPrafafeaa & @ 19 T sigr St ﬁm’q Gv_\!ff) DI YD 3GIgrUl 72
1. Petroleum / ﬁ'@ﬁﬂm



2. Coal / HITQT

3. Natural Gas / U@ﬁﬁv_ g}
4. Solar Energy / IR ol

Correct Answer :-

« Solar Energy /AR &l

58) Almost all of Iron Ore Production of India is confined to which among the following five states of India? /
HRA & T 9t dite 3w Sare Faffld & 9 yRa & $F § uia sl 7@ difta 82

1. Odisha, Karnataka, Chhattisgarh, West Bengal and Uttar Pradesh / 3ifeam, Bfee, SxrTe, TR s 3R IR U

2. Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / e, Bice, THETg, Tl 3R IRES

3. Odisha, Karnataka, Chhattisgarh, Madhya Pradesh & Jharkhand / Ifeam, Bfeew, TTRATE, AV R IRTS

4. Odisha, Madhya Pradesh, Chhattisgarh, Andhra Pradesh and Tamil Nadu / Ifeem, AR, BTG, 3y U™ 3R ?Tﬁl?ﬂ'l?g’

Correct Answer :-

« Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 3f&=m, e, BTirTg, T 3R IRTS

59) What is the name of the world’s first Greenhouse Gases Observing Satellite launched by Japan in 2009? / 2009 o U GRTUR™ ﬁﬂ! Ry

fay & ugd FHETSH A Sadie ST BT 19 F1 82
1. Tadami / Fﬂaﬂﬂ

2. Akatsuki / 3BT

3. Ibuki / SgHI

4. Hayabusa / GIATgHT

Correct Answer :-

« Tbuki /3!

60) Which among the following bodies received Nobel prize for peace for their efforts to build up and disseminate greater knowledge about man-
made climate change, and to lay the foundations for the measures that are needed to counteract such change? /ﬁmﬁ oA foa Femd

w4 fAftfa wearg uRads & IR # it @ ¢iftres 311 & fAmfor 3k waR & forg & g, 8iv 39 9w & ulvad+ &1 ufaer 1 & fag
SIS IUTA] B g T & g Aaw wife Rewr wre feare

1. IPCC

2. UNEP

3. UNDP

4. UNFCCC

Correct Answer :-

« IPCC



